
ii. 
      

  

  
      
      
      
   

iv. 
      


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      
      
      
   

iii. 
      



 
      
      
      
   


      

     
      
      
      
   
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You need: a calculator

1. Sarah sees a short cut for adding up the

4 numbers in the blue box.

a. Show how Sarah’s short cut might work.

b. Use this short cut to add up each set of 

4 numbers in the red boxes below.


      

     
      
      
      
   
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      
   


      

  

  
      
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      
   


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

    
      
      
      
   


      



 
      
      
      
   

i. ii.

iii. iv.


      

     
      
      
      
   

a. Find two different short cuts for adding up the 9 numbers

in the green box.

b. Anna’s short cut for adding up the numbers in the

green box is 9 x 11 = 99.  Explain how this works.

c. Use Anna’s short cut to add up each set of 9 numbers

in the yellow boxes.



1 + 25 x 16 = x 16

= 13 x 16
= 208

26
22

1 + 45 x 252

3. Angus’s short cut for adding up the 16 numbers in the purple box 

in this calendar is:

 a. Check his answer by using a calculator to add up the 16 numbers.

b. Explain how Angus’s short cut works.

c. Use the short cut to add up each set of numbers in the purple

boxes below.
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4. Jacob uses the short cut to add up the numbers in the pink box

on this hundreds board.

a. Complete Jacob’s calculation.

Check your answer by using a calculator

to add up the numbers.

b. Explain how Jacob’s short cut works.

c. Use a short cut to add up each set of numbers

in the orange boxes below.
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  
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      
      
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      
      
      
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